Calculus I, Spring 2024 (Thomas’ Calculus Early Transcendentals 13ed), http://www.math.nthu.edu.tw/~ wangwc/
Brief solutions to selected problems in homework 14

1. Section 15.7: Solutions, common mistakes and corrections:

Figure 1: Solution to Section 15.7, problem 9
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Remark: It is worth remembering that / cos® 0 df = / sin? 0 df = / §d9 as
0 0 0

we mentioned in class.
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Figure 2: Solution to Section 15.7, problem 11
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Figure 3: Solution to Section 15.7, problem 13-14
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Figure 4: Solution to Section 15.7, problem 39
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31. Let D be the region in Exercise 11. Set up the triple integrals in
spherical coordinates that give the volume of D using the follow
ing orders of integration.

a. dpdd do b. dip dp db

Let D be the region bounded below by the plane z = 0, above by
the sphere x* + y* + z> = 4, and on the sides by the cylinder
x* + y2 = 1. Set up the triple integrals in cylindrical coordinates
that give the volume of D using the following orders of integration
a. dzdrdf b. drdz df

11.

c. do dz dr
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Figure 5: Solution to Section 15.7, problem 31
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Figure 7: Solution to Section 15.7, problem 45

2. Section 15.8: Solutions, common mistakes and corrections:
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Figure 9: Solution to Section 15.8, problem 9
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Figure 10: Solution to Section 15.8, problem 19

3. Homework 14, problem 3:
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Figure 11: Solution to problem 3



4. Chap 15, Additional and Advanced Exercises:
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Figure 12: Solution to Chap 15, Additional and Advanced Exercises: problem 11



